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Estimation of potential landscape due to a constant source
independent of time

In this section, we shall estimate the potential field of the growth factor that a single
spiral artery produces to correspond to a diffusion of a chemical from a point source
with a magnitude M (neglecting the possible effects of spiral artery size) constant
in time from its onset at time to. Thus the potential field V' (x,t) is a solution of:

%V(x t) — (DV?V(x,t) — k*V(x,t)) = M5(x0) ® 0(t — to) (0.1)
where consumption of the attracting chemical by surrounding tissue, with a rate k2,
is considered and 6(t) denotes a Heaviside function. Consumption of oxygen is more
appropriately modelled by a Michaelis-Menten term instead of linear consumption
but this dependence is rational when oxygen concentration is low: ]f,\gf; ~ %S)P.
We shall find the Green’s function for the operator on the left hand side of
(0.1), can be obtained using Fourier transformations, and is given by the following

expression:

1 x||2
c(x0) = 00) o (= D0~ 1) x = (one). Il = /4 g 02)

Thus the potential V satisfying equation (0.1) can be obtained using this result,
and is given by:

V(x,1) £(x, 1) * ((5(x—xo) ®9(t—t0))

= e(x—xq,t) *0(t — to)

0(t) /0 e(x —x0,7 — to)dr, (0.3)

where the operator x denotes convolution in generalised functions (or distribution).
However, the potential with its gradient (needed for chemotactic growth) from
equation (0.3) cannot be rewritten into analytical or closed form which is desired
for our purposes. That is why we will look for a steady state solution instead which
essentially means that we assume the diffusion process of the attracting chemical
X to be much faster compared to vascular tree growth. Then the potential V'(x,t)
satisfies:

— DV?V(x,t) + k*V(x,t) = M§(x) (0.4)
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which can be solved in generalised functions 2’ as follows. Assuming the angiogen-
esis process in placental development is planar, one can rewrite the above equation
(0.4) into polar coordinates, and taking into account the symmetry of the problem
we have
D a2+1a V(r)+EV(r) = Ms(r) (0.5)
— — 4+ —— r r) = 7). .
or2  ror
Instead of solving equation (0.4) or (0.5) directly, we will find a solution to the
same equation but dropping the point source in the origin
0? 10
~D(a5+-+ |V E*V(r) =0 0.6
(31"2 * 7’87") () + (r) (0.6)

and such that grows to infinity in the origin and decays with r as it goes to infinity
(boundary condition). If we rescale the independent variable r in (0.6) as p =
%7 we obtain a differential equation that can be solved by using modified Bessel
functions, as the parameter k2 is positive. From the considered boundary conditions
(potential decays to zero at infinite distance from a given source) we have

V(r) = BoKy ( (0.7)

%)

r—
VD

with Ko (z) representing the modified Bessel function of the second kind. To relate
the magnitude M of the considered point source to the above solution in terms of
Bessel functions (determining the constant By based on a value of M) we have to
carry out some calculations which are outlined below. One has to choose appropriate
test function p(x,y) € Z(R?) = C°(R?) (test functions are smooth with compact
support).

We look for a relation between constants By and M such that V(x) = By Ky (||x|| %)

is a solution of the reaction-diffusion equation with a point source with magnitude
M which we are concerned with for our purposes:

Mo(x) = — DV?V(x) + k*V (x).
This is an equality in the space of generalised functions which means that
(Mé(x), p(x)) = (— DV?V(x) + k*V(x),0(x)), ¢ € 2(R?).

To obtain the required relation it is enough to consider the following set of test
functions

Pe5(X) = wey2(x) * xa. (%),
where the domain is chosen to be G = (—e+33/2,6 —36/2) x (—e+33/2,6 —36/2)
and the function w, is defined as follows

0 ... otherwise,

we(x) = { C.e <Z-I=7 ., Ix|| < e (0.8)

where C. is opted so that fRZ we(x)dx = 1. Further x¢ is a characteristic function
of a domain G and G. denotes an e-neighbourhood of the domain G, i.e.

. 1 ... dlSt(Gv X) <e
xa. (%) { 0 ... otherwise, (09
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Note that § is dependent on € as 6 < € and one can easily check that really ¢, s is
a test function for each ¢ > 0 and 0 < § < €. Examples of ¢, 5 for ¢ =1 for several
¢ values are given in Fig 1.
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Figure 1. Examples of ¢, s for ¢ = 1 in one dimension for several § values. One can

observe the convergence towards characteristic function of the interval (—1,1) and notice
the declared smoothness of these functions.

Now we calculate each term in the equation when considering only the above
mentioned set of test functions y.s

lim lim (M6, ;) = lim lim( — DV?V 4+ E2V, ¢.s)

e—=046—0 e—06—0

A
= lim lim( — DV?V,@.5) + lim lim (k*V, ¢.s) . (0.10)
e—06—0

e—06—0

B C

The term A in (0.10) can be easily calculated as follows:

A= lim lim (M = lim lim M =M
lim lim (M9, pes) = lim lim Mpe5(0,0) ;
as ¢.5(0,0) =1, Ve, 4.

The third term C converges to zero. This can be shown for example by following
reasoning (notice that it is shown that function f is locally Lebesgue integrable
f € Li . which proves the first equality):

loc

k'2

‘kQ(.ﬂ 4106,5)|

J(x)pes(x)dx
R2

= k2

/' F(%)@e(x)dx
B(0,¢)

<8 [ |5eo)ax
B(0,e)

27 €
- R / / Ir By Ko (r)] drd,

0 0

where we used the fact that 0 < ¢, 5(x) < 1. If we consider € small enough, we
can use asymptotic expansion of the modified Bessel function Ko(z) = —In(z/2) —
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v, 0 < & < 1 which yields

2w e €
kz/ / |rBoKo(r)| drdd = 271'/ r(—1In(r/2) — ~)dr
o Jo 0

T o 4
=3¢ (1—2/1—#111(62)).

Finally, carrying out limits for § — 0 and € — 0 we prove that C = 0:

e—=08—0

4
|C| = lim lim k?|(f, pe.5)| < gaQ <1 —2u+1n <€2>) =0 (0.11)

and that f(z,y) = BoKj (x/av2 + y2) €L},

Only the second term B will be calculated as a limit in § and €. From the
following calculations it will become apparent that V?f(x) € L}, . which means
that

(V2 f,0e5) = / V2f(z,y)pe.s(x)dx.

B(0,e)

Firstly, we will calculate the inner limit in § — 0:

m [ V2F(x)pes(x)dx
5—0 B(O,E)

/ V2f(x) lim ¢, s(x)dx
B(O,E) =0

/ V2 f(x)dx,
B(0,e)

since [pe,s(X)| < X(—e,eyx(—e,e) (x) € L2(R?), where x (4 denotes a characteristic
function of interval (a,b). Then divergence theorem leads to

2w
/ V2 f(x)dx = / Vf(x).nds = / € of dr.
B(0,e) S(0,e) 0 on r=e
Due to symmetry of the problem one can easily deduce that 37{ = % =
r=e r=e

By %K{) (T%) = —By %Kl (r%) where the recurrence relation for modified

Bessel function %Ko(ax) = —aK;(ax) was used. Finally, we will use asymptotic

expansion for modified Bessel function K (r) ~ @ (%)1 =1 0<r<1and thus
27 af

k k
B = lim e — dr =e2nByg—=K; | e—=
=0Jy " on|,_. VD! ( VD

We can conclude with a relation between the magnitude M of the point source
and the coefficient in front of Bessel function By:

) ~ 21 By.

M=A=DB+C =2nBy+ 0= 278y,

or preferably

M
By = —.
0 21

(0.12)
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